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p2 =

    0.0100    0.0200    0.0700    0.0200    0.0400    0.1400    0.0700    0.1400    0.4900

l2 =

     7     6     4     6     5     3     4     3     2

>> Lm2=p2*l2'

Lm2 =

    2.8900

p3=kron(p,p2)

p3 =

  Columns 1 through 17

    0.0010    0.0020    0.0070    0.0020    0.0040    0.0140    0.0070    0.0140    
0.0490    0.0020    0.0040    0.0140    0.0040    0.0080    0.0280    0.0140    
0.0280

  Columns 18 through 27

    0.0980    0.0070    0.0140    0.0490    0.0140    0.0280    0.0980    0.0490    
0.0980    0.3430

>> l3=ceil(log2( 1 ./ p3))

l3 =

    10     9     8     9     8     7     8     7     5     9     8     7     8     7     6     7     6     4     
8     7     5     7     6     4     5     4     2

>> Lm3=(1/3)* p3*l3'

Lm3 =

    1.3577
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p2 =

    0.0100    0.0200    0.0700    0.0200    0.0400    0.1400    0.0700    0.1400    0.4900

l2=[6 6 4 5 4 3 4 3 1]

l2 =

     6     6     4     5     4     3     4     3     1

>> Lm2=(1/2)* p2*l2'

Lm2 =

    1.1650
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